:’.%M

with blanks to .lllbllstw

\
!

himonghi,m

(B) agrecing with
(D) admitted to

(Cf agreed with

113. The stranger
last night.
(A) creeps
(C), crept

in through the window

(B) creep
(D) creeping

living here since 2000,
(B) have been
(D) will be

115, The specialist ____.__ you want lo meet is
available only on Thursdays.
(A) which (B) whom
(9 whose (D) who

wwmm‘a{mwm‘"‘mﬂa
in the Answer Sheet.
116. Hesitate
(C) Pause (D) Beltls
17, Consciousness
(A) Vision (B) Understanging
(C) Nothingness (@ A7 e
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118, c%
W Carper (B) Capacity
© Calppess (D) Crowd
119, Peryy,
(A) Dete (B) Hinder
©) Cony (D) Restrain
120, w..,‘,
(A) Race (B) Wrestle .
©) Galiop (D) Roam

D‘"‘“"‘:lnqmtm no. 121 to 125, choose
word opposite jn meaning to the given word

mark it in the Angwer Sheet.

(4) Feol (B) Vice

(C) Untrue (D) Defeat
122. Evasive

(A) Categorical (B) Indefinite

(C) Explicit (D) Unclear
123. Relentless

(A) Gentle (B) Sensitive

(C) Yielding (D) Kind
124, Hostility

(A) Eamity (B) Friendship

(C) Partaership (D) Relationship
125, Assenl

(A) Separation (B) Confusion

© Dissent (D) Self-interest
Directions ¢ In Guestions no. 126 to 130,
alternatives 0% &ven for the Idbmlmz.:
underlined in H nm;ha.m the alternative
.I:ihiﬁ:m:r‘;ﬂ“"'"‘“‘“‘hm M



in black and white.
A inwriting (B oy
(©) figuratively (D) obliquely

128, Our parents allowed us to watch films once in
a blue moon.
(A) everywhere  (B) rarely
(Q) secretly (D) forever

129, Hold your tongue, my lad ! Tl deal with you
later.
(A) Stick out the tongue
(B) Be silent
(C) Cool the tongue
(D) Gargle

180, If you read his letter between the lines, you
will find that he has no faith in his

colleague’s honesty.

(A) strain your eyes

(B) read in secret

(C) find out the inner meaning
(D) read an untidy letter

Directions : In questions no. 131 to 135, the first
and the last parts of the sentencel/passage are
numbered 1 and 6. The rest of the sentence/ passage
is split into four parts and named P, Q, R and §S.
These four parts are not given in their proper order.
Read the sentence/passage and find out which of
the four combinations is correct and indicate it in
the Answer Sheet.

131. 1. My grandmother was an old woman,

P. But that was hard to believe.
Q. And she even had a husband.
R. People said that she had once been
young and pretty.
S. She had been like this for the twenty
years that I had known her.
6. She often told us of the games she used

to play as a child.
(A) SRQP (B) QPSR

(C) RSPQ (D) RPQS
AD 2016/Page 20

133.

134,

136.

6. Her eyes sparkle like the anklets on |
swinging feet, ‘

(A) RSQP (B) SPRQ

(©) SQPR (D) RQSP

1

(A) PQRS (B) RSPQ
(C) RPQS (D) QRPS

6. to make the water clear.

(A) RSPQ (B) PSRQ
(C) PQSR (D) RPSQ

1

6. lord of the temple.
(A) SPQR (B) RPQS
(C) RQPS (D) SQPR

Q.
R. I'hear more bells behind me.
S.

The temple bell rings in the distance,

Use bright, cheerful, favourable
and phrases to describe other
Make it

for all your friends and associates.
Be extremely careful

a rule to have a big, positive word
to avoid

the petty cut-him-down language.

nm o

An officer in Andhra Pradesh
found that the tribals put
materials in turbid water
who was in charge of tribal
certain gums and wood

wEom’

Along with the orthodox Hindu's
P. and in the deity, -

Q. Raghupati has his Brahmin's pride
R. faith in the scriptures

S. because he is the



.:ln.qumio...,.o 3
har been given ulAclx'n![H' f’ecous,aum
NM’”"” Voice. Out of the

the same "ann::,?“ the one which best
Mmyuf answer in the Mﬂ/m Voice
Answe, Sheet.

136. James Cameron directeq

(A) The Titanic hyg y ™ Titanic
Cameron,

been diractod by James
4% directed by James

(C) James Cameron hag g, | the Thtani
(D) James Cameron had been directi

(B) The Titanie w
Cameron.

A wmwuhumm
(A) wu“uﬂ\lbmb’w_mu

(B) We are bei ta English
Mr. Dutta. — i

(C) By Mr. Dutta we are taugh: English.

(D) We have been taught English
Mr. Dutta. "

Has the postman not delivered the letter ?

(A) Has the letter been delivered by the
postman ?

(B) Has the letter not been delivered by the
postman ?

(C) s the letter delivered by the postman ?

(D) The postman hasn't delivered the letter.

. John is building a new cupboard.
@ Jmmbnnwm."”w
(B) A new cupboard is beiog built by John,
© Ammwuwbumw&hn.
(D) John's new cupboard is being built

pext Monday.
7 pext Monday,
paying you next

Monday.
o Pay you next

140. Someone will pay

(A) Youvwldbﬂ"id

(B) Someone will P
Monday.

(C) You will be paid n¢**

(D) Someone is S9°F

Monday.
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141,

142,

143,

144,

145.

Drinking was ruining his life gradually:

(A) Hig jifo was being ruined
drinking- drinking.

(B) Hig Jife is ruined by gradual

(C) Gragdually, his life is rvin
drinking problems.

his memory.

They laid out a small epitaph. o

They had laid out & small epitaph i1
moemory.
They were laying out, in his memory, &
small epitaph. i
They lay out a small epitaph in his
memory.

The nurse is giving food to the sick boy.

{A) The sick boy is given food by the nurse.

(B) The sick boy gets food from the nurse.

(C) The sick boy is being given food by the
nurse.

(D) Food is given to the sick boy by the
nurse.

(A)
(B)

(C)

(D)

Our parents have taught us to behave
properly

(A Wehmbeenulghtwbebnvcpmpg
by our parents, i
(B)Wemuudubwnottobehm
properly by our parents,
(C) Our parents taught
Ty, us how to behaye
(D) Our parenta have been teaching ug hoe

to behave properly,




Directions : In questions no. 146 to 155,
the sentence is underlined. Below are given
alternatives to the underiined part wpi.
improve the sentence. Choose the COFTect algernario
;" case no improvement is required, chooe, wno
Mprovement™ option. Mark your angype, b ke
146. He is entitled to a reward for honesty,

(A) titled

(B) entitle to

(C) entitled

(D) No improvement

The sight chosen for the school building is
good.
(A) site

(B) eye-sight

(C) side

(D) No imptovcmcut,

Themmrmustbaconsideudi_nmpnint
of view

(A) from every
(B) atevery

(C) on every
(D) No improvement

The poor villagers have waited in the bitter
cold for more than two hours now.

(A) has been waiting

(B) had waited

(C) have been waiting

(D) No improvement

You must accustom yourself with new ideas.
(A) accustomed with

(B) accustom to

(C) accustom yourself to

(D) No improvement

Will you lend me few rupees in this hour of
need ?

(A) borrow me a few rupees

(B) lend me any rupees

(C) lend me a few rupees

(D) No improvement
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a part of

147.

148,

149,

150.

151.

with a burst ‘
152. The " tyre halted swiftly.
(A) stopped quick
(B) stopped fastly !

(D) Noimprovement

Many incidents of the last month se
unimportant when viewed in perception.
(A) prospective

(B) perceptive

(C) perspective

(D) No improvement

153.

154. The youths jostled their way in the crowd.
(A) over

(B) through
(C) among

(D) No improvement

155. What is wrong with the argument is t
even if the two premises are true,
the conclusion isn't necessarily true.
(A) the conclusion will be true

(B) the conclusion is false

(C) the conclusions aren’t necessarily

(D) No improvement

D"Wiom.-lnqma_'mlno.lssblss,c
has been given in Direct!Indirect. Out of the fo
alternatives syggested, select the one which B
€Xpresses the same sentence in Indirect/Direct o8
mark your gpgwer in the Answer Sheet.

156. 1 said to him, “You are wrong."
(A) Itoldhimbﬂmb“'.“
(B) 1 told him that he was wrong.
(C) Igaid that he was wrong.
(D) 1mdmm.ghebwm¢-



Ry

(A’ mﬁhmh‘”“wa late. friend,
O ot et (A) Ray; asked his friend he knew or not
© Hﬂnldmeu;m\l‘m'me - R ek
(1) ﬂtwldmeulatm'm'h" B) M“mmdﬁmmmgm
teacher said, “Be | (C) Ravi asked his friend whether he knew
i i that man.
3 e T (D) Ravil:skedhisfriendwhcﬂxerbem
(A) The teacher sajq y, Bt

mwhorml Itl)p Lalkingand
(B) The students wepe told be quiet and 163. Iashdhivabethcrboh.dnotpmmiledto

listen to her words. come.,
(C) The teacher asked the students to be (A) 1 asked him, “Did you come ? You
quiet and listen 1o her worgs. is0."
(D) The teacher shouted students listen to (B) 1 said to him, “Did you not promise to
my words and be quiet. come 7°
(C) 1 said to him, “Do you not promise to
169. He said that the book was very interesting. come 7"
(A) He said, “This book is very interesting.” (D) 1said, “Did | ask you, not to come 7"
(B) He said, “This book has been very
interesting.” 184. Rahul said, “What have you been searching
(C) He said, “This book had been very for all these hours 7"
interesting.” :
(A) Rahul asked me what I was searching for
(D) He said, “This boock would be very all these days,
interesting.”
i (B) Rahul asked me what I had been
o searching for hours.
160, She said to him, “I have bought a new car. e . “:"h“: d
asked what I have been
(A) She told him that she would buy a new il i searching
car.
(B) She told him that & new car has been m’m":r‘h“'mmhadbem
bought by her. - g for all these hours,
(© bi that she bought a new )
)?:told £ 165. He said to the children, “Come to the park
(D) She told him that she has bought anew | withme.
car, (A) He invited the children to come to the
MMM.
18 » caid Angeline. He invited the children to come to the
L. “Tlove chocolate,” 58 i (B) oark with him,
ATl = ghemddweohu: (© 1 invited the children to come to the park
(B) Angeline said that P with me.
(C) Angeline said she loves () 1invited the children to come to the park
(D) Angeline says she loved Cocclate. with 0%
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: 166 to yor .
Directions : In questions ne 85, in the
fdlqommwmofwl;”'d‘hawb“n
MMMWW'M',’ d choose the
mmmbmqmmqthfow
alterngtives and fill in the blanks.

Passage I
(Questions No. 166 - 175)

How old is the Earth ? This is 4 166 to
which we may never have the exact 187 . Man has
168 about the age of the Earth since 169 times,
and there were all kinds of myths and 170  that
seemed to have the answer. When it was proven
that the Earth l_‘ll_amundt.heSun.l_‘iz_;hgn
kmwwha'eto.bea'n.'l‘oﬁndthe 173 of the
Earth, it was necessary to 174 how the solar
system was 175 .

. 166. (A) point (B) question
(C) debate D) fact
m. (A) reason m) lm
(€) answer m) dedum
168. (A) wondered (B) marvelled
©) olden (D) ancient
0. W) tale (B) Jegends
(©) fables ®) story

171, (A) circled (B) rotated
(c) moved (D) revolved
172. (A) scientists (B) scholars
(C) academicians (D) students
173. (A) years (B) age
(C) date (D) oldness
174. (A) tell (B) narrate
(C) recount (D) explain
175. (A) born (B) originated
(&) formed (D) begun
Passage 11

(Questions No. 176 - 185)

One thing we can do is 176 a good book
Another is to look at a new 177  conducted by
William Mercer, one of the world's largest Huma
Resources consultancies. Mercer  decided t
178 some of the world’s great cities.
produced their results by giving 179
180 critaria, These included political, economi
and social environment, healthcare, education

Auckland ang Copenhagen came in second.
d&'&lhmofthemunmma he
Single most yy,ecessful country of all those 185 -



176. (A) look
(C) obtain

177. (A) survey

(C) consultation

178, (A) proclaim
(C) judge

179. (A) signs
(C) marks

180. (A) various
(C) assorted

181, (A) ways
(C) facilities

182, (A) escape
(C) regret

185. (A) created

(C) experimented

AD 2018/Page 25

(B)
(D)

(B)

A

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

controlled
vacated

Dlnm.,h

three brigy *In questions no. 186 to 200, you have

passage s with 5 questions following each

best 'R“"Mepauugcsoanful(yaudchm:he

wm..”: o each question out of the four

appropriag, %4 mark it by blackening the
Sirele ( @ ) in the Answer Sheet.

Passage |
(Questions No. 186 - 190)

 The Longon Bye is a giant Ferris whesl
nmau”thobmh of the River Thames in
London, Rogland, The entire structure s
135 metres (443 ft) tall and the wheel has a
diameter of 120 metres (394 ft).

It is the tallest Ferris wheel in Europe, and
the most popular paid tourist attraction in the
United Kingdom, visited by over 3-5 million people
annually. When erected in 1999 it was the tallest
Ferris wheel in the world, until surpassed first by
the 160 metres (520 ft) Star of Nanchang in 2006
and then the 165 metres (541 ft) Singapore Flyer in
2008. Supported by an A-frame on one side only,
unlike the taller Nanchang and Singapore whesls,
the Eye is described by its operators as “the world's
tallest cantilevered observation wheel”. It provides
the highest public viewing point, and is the 20th
tallest structure, in London,

The London Eye, or Millennium Wheel, was
officially called the British Airways London Eye
and then the Merlin Entertainments London Eve,
Since 20 January 2011, its official name is the EDF
Energy London Eye following a three-year
sponsorship deal.

The London Eye adjoins the western end of
Jubilee Gardens, on the South Bank of the River
Thames between  Westminster Bridge and
Hungorford Bridge, in the London Borough of
Lambeth. The site is adjacent to that of the former
Dome of Discovery, which was built for the Festival
of Britain in 1851,

-



r

186. mhﬂoul‘m-hwheelinuh
(A) shrolendnp.
(B) Singapore Fiyer
(© Damnol'Diauuvuy
(D) London Eye

187, The London Eye is situated on
(A) Westminster Bridge
(B) Hungerford Bridge
(C) The Thames
(D) London Borough

188. Which of the following does
same as ‘entire’ ?
(A) Complete
(B) Total
(C) Partial
(D) Whole

“orld i

the banks of

189. The highest viewing point is provided by
(A) Westminster Bridge

(B) Hungerford Bridge

{C) Dome of Discovery

(D) Millennium Wheel

180. The structure built for the Festival of Britain

in 1951 was

(A} Millennium Wheel
(B) London Eye

(C) Dome of

(D) Jubilee Gardens

Passage I1
(Questions No. 191 - 195)

Not all that glitters is gold. Not all that ia
white is milk. Not all people who wear saffron
clothes are sages. These age-old saying® hold true
eXen. now, especialy the lsst ane. We st & lot of
Mbm'mm“'wgnollnd m
8Te sanyasis in the true sense of the WOrd: A

sanyasi is one who guides hig followers o0 the right
path,
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hot mean the

.
w‘”-'wthemmm“:,
‘wf“MmWiq‘lym.ln“
dwwﬂﬁb!%h-hw.wmsg
husbands. Owing to their soci -,
conditions, €0 the parents of the victims ey
Mowmm‘mhwmﬁw‘hﬁl’%
Wn.ﬁmmﬂnbeeninﬂanmwb‘
Mgixb.hmbymmnu.hadmnmh
their homes a0d had been deserted by their love,
m,.mehonoymoou.'rbmgirlsnmllydldu
dare return to their parents,

1
|

The sayiug that ‘success has many fathen
but failure has none' is true indeed. We get to gee
only the distressed women and their children, while
the main cause of their problems remains hidden i
the background. So the victima cannot be blamed
altogether, Often it is circumstances that fores
them into such drudgery. These women and girk
uedtobepsydmlogicallymonganddewrniud_i
hadilﬁmltieswitheomgeuldgoonwﬁhth’gf
lives. |

191. The opening sentence “Not all that glitters it
Dld' means Vi\\'
(A) All metals that shine must nemurilyh;_f
as good as gold 1
(B) One must not be deceived ‘m.
appearances ‘v:‘

(C) Only gold has that unmistakable shine
(D) Glitter is the true quality of truth

Wearing saffron clothes does not make one
fanyasi, is another way of saying
(A) Saffron must only be worn by

ascetics A
(B) Saffron is not the favourite colour of

sanyasis
©) Saffron must be changed to some




ing 0 their iti 196. I i off, the brain
"o'mtha 80¢i0-econqmic conditions: thawyofmgenumt >

parents of s y
:ﬂm them beﬂ“leun Victims were . cells survive
Wm"’"‘hmnchny

. selfsufficient ) 415 minutes
notlllowthemhdo.o c ©) for
(D) m’wuldmo'd‘obutmrdmnt 15 minutes
none Means
(A) Success has only fatherg byt no mothers | 197. The heart sends axygen-rich blood
(B) Failure has many mothers but no fathers
(C) Success comes naturally to men not (A) 1o the brain only
women
(D) No one owns up to failyre ®) tothe kidneys only
195. The main reason fmtbem;inauuofthéit (C) tothe entire body
problems remaining hidden is
(D
(A) Nobody has bothered to find out the real ) ot
cause
(B) People are waiting for it to come out in 198, Dr. John Gibbon of US.A. developed an
the open artificial heart in
(C) People don't want to be bothered with
others’ problems (A) 1955
(D) N i i
) Nobody has tried to expose it (B), 1953
;' Passage Il (C) 1960
(Questions No. 196 - 200)
X (D) 1950
The heart is one of the most vital

of the human body. The heart of the human
has the continuous job to keep Mr\dlm 199. Heart diseases occur from
flowing through tfie body. Al the body’s cells need o

constant supply of oxygen, particularly in the brain, (A) Damage to the heart museles
The brain cells live only four to five minutes aper (B) Coroniom
the axygen is cut off and death comes to the engire
WY-Hmdinanmmuhhmdlmmmm, (C) Pericardium

muscles, the valves or the pacemaker ¢
Muscle is dam.g:d,—&wlbh—.m Pu::‘; (D) Heart cells

Properly. If thie valves are damuged, BIood canpy

flow norially. D-Jakin Gibbon of USK. developed | 909, All the body' cella need 5 constant supply of

A machir in 7953 ThaT Gould BEE O%er temporary

MW@ repair|  (A) Nitrogen

of replace & jve heart. Many patientg have

:bpm—mm;a’uﬁ their hearty oy | (B) Hydrogen
hearts—were—faulty. MAnY PEople gp now Helium

being kept—tive—with G087 DAETy opera o -

dive—with ¥ %
Pacemakers. (D) Oxygen
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